
DATE NIGHT​ANSWERS 

Five men took five different best friends on a date at different parts of the big 
city. Adam wants to take his date out too, but he doesn’t want to copy any of 
the other guys (best friends like to dish on their dates, and Adam wants his date 
to feel special). The guys, however, are making it difficult for Adam and won’t 
give him a straight answer. By following the lines of clues, can you figure out a 
unique place where Adam can take his date to? 

 

1. There is no combination of a man and woman who share the 
same first initial. 
● This means that Jodie and Jeremy, Michelle and Mitch, 

and Ellie and Eugene CANNOT have gone a date. 
2. Layla’s date (who wasn’t Toby) did not take her to a place that 

sells food. 
● Food can be bought at the Movies, the Bowling Alley, and 

the Pizza Parlor, meaning Layla and her date could have 
only either gone to the Library or the Beach for their date. 
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This clue also says that Layla and Toby CANNOT have 
gone on a date. 

3. The five men are Toby, the one who took out Ellie, the ones who 
took their dates to the Beach and the Library (neither of which 
was Ryland), and the man whose date ends with “ie.” 
● We know, based on this clue, that Toby could NOT have 

been Ellie’s date, he did NOT take his date to the Beach 
or the Library, and his date’s name does NOT end in an 
“ie.” Because this clue lists each of the five guys, that 
means that each hint cannot be paired with another: Ellie 
did not go the Beach or the Library, the women whose 
date’s took them to the Beach or the Library can or 
cannot have names that end in “ie.” We also learn that 
Ryland did not take his date to the Beach or the Library, 
which means he has to be referenced by one of the other 
hints within the clue: he either took out Ellie or his date is 
one of the other women whose name ends in “ie” (in 
other words, Ryland went on a date with either Ellie, Suzie, 
or Jodie). 

4. Eugene took his date to the movies, while Jodie’s date took her 
to the Beach. 
● We know that Eugene went to the Movies, and Jodie 

went to the Beach, which means Eugene and Jodie 
CANNOT have gone on a date. In clue #3, we learned 
that Ryland could potentially be Jodie’s date; however, 
we also learned that Ryland did NOT go to the Beach – 
therefore, Ryland and Jodie CANNOT have gone on a 
date. 

5. Ellie found out that her date is a pineapple guy (she requested 
they only get it on half the slices). 
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● With the key words “pineapple” and “slices,” we can 
assume that the clue is referencing Pizza, inferring that Ellie 
and her date went to the Pizza Parlor. 

 

 

 

1  2  3   

Toby  M​ichelle  Bowling  3W,5L,9​TH ​/ 2W,8L,3​RD 

M​itch  Jodie  Beach  1W,3L,1​ST​ / 3W,3L,12​TH​ / 2W,3L,14​TH 

Jeremy  Layla  L​ibrary  2W,1L,11​TH​ / 1W,3L,2​ND​ / 3W,6L,7​TH 

R​yland  Ellie  Pizza  1W,4L,4​TH​ / 2W,5L,8​TH​ / 1W,5L,13​TH 

Eugene  S​uzie  Movies  3W,6L,10​TH​ / 1W,2L,6​TH​ / 2W,1L,5​TH 
 

● There are three categories in the puzzle: Men (1), Women (2), and Places 
(3). The letters in black are a hint for the order that the answers from the 
above clues should be in. If clues #1-5 were followed correctly, then the 
numbers and letters in the fourth column should correspond to the words 
in the first three columns. W=Word, L=Letter, and the last number relates to 
the numbered lines below. 

o For example: 
▪ The first row, fourth column of the table is ​3W,5L,9​TH​ / 2W,8L, 

3​RD​. Looking at the first part before the slash, and using the 
key, it reads: 3 Word, 5 Letter, 9​th​ Place. If we look at the 
words in the first three columns (​Toby, Michelle, Bowling​) and 
use the clues from the fourth column, we find that the 3​rd 
Word=​Bowling​ and the 5​th​ Letter=​i​; we then find the 9​th​ Place 
in the lines below and make note of the letter. 

o Following this same pattern, the result is ​TREASURE ISLAND​. 
● Column Four answers are as follows: 

o 3W=​BOWLING, ​5L=​I ​/ 2W=​MICHELLE, ​8L=​E 
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o 1W=​MITCH, ​3L=​T ​/ 3W=​BEACH, ​3L=​A ​/ 2W=​JODIE, ​3L=​D 
o 2W=​LAYLA, ​1L=​L ​/ 1W=​JEREMY, ​3L=​R ​/ 3W=​LIBRARY, ​6L=​R 
o 1W=​RYLAND, ​4L=​A ​/ 2W=​ELLIE, ​5L=​E ​/ 1W=​RYLAND, ​5L=​N 
o 3W=​MOVIES, ​6L=​S ​/ 1W=​EUGENE, ​2L=​U ​/ 2W=​SUZIE, ​1L=​S 

 

 

   ​T  R      E A S     U      R     E       I      S     L     A     N     D 
_____ _____ _____ _____ _____ _____ _____ _____  _____ _____ _____ _____ _____ _____ 

    1        2       3  4 5        6         7       8          9      10      11      12      13      14 

 


